# Nonlinear eigenvalue problem for a model equation of an elastic surface

Dedicated to Professor Takaŝi Kusano on his 60th birthday

Nobuyoshi FUKAGAI and Kimiaki NARUKAWA (Received August 10, 1993)

#### 1. Introduction

In this article we discuss the existence of nonzero weak solutions of the boundary value problem

$$-\gamma \operatorname{div}\left[\frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}}\nabla u\right] = \lambda f(x,u) \quad \text{in } \Omega$$
 (1.1)

$$u \ge 0$$
 in  $\Omega$  (1.2)

$$u = 0$$
 on  $\partial \Omega$ , (1.3)

where  $\gamma > 1$ ,  $\Omega$  is a bounded domain in  $\mathbb{R}^n$ , Vu denotes the gradient of u and  $\lambda$  is a positive parameter. In the case  $\gamma = 1$ , the equation (1.1) is the mean curvature equation or the capillary surface equation. When n = 1, this equation describes the equilibrium state of an elastic string yielding an exterior force f(x, u). We give the derivation of the equation (1.1) for one dimensional elastic string in Section 2. The parameter  $\lambda$  depends on a tension of the string. The purpose of this paper is to investigate the dependence between a weak solution  $u_{\lambda}$  and parameter  $\lambda$ .

It is easy to see that solutions of (1.1), (1.3) correspond to critical points of the functional

$$I_{\lambda}[u] = \int_{\Omega} (\sqrt{1 + |\nabla u|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u) dx$$
 (1.4)

defined on the usual Sobolev space  $W_0^{1,\gamma}(\Omega)$ , where

$$F(x, u) = \int_0^u f(x, \xi) d\xi.$$

Under appropriate growth conditions on F(x, u) we show the existence of a local minimizer of  $I_{\lambda}$  in Section 3. Next we give a proof to obtain an unstable critical point of  $I_{\lambda}$  by using the mountain pass lemma without Palais-Smale

condition and the monotone operator theory in Section 4. We mention an example in the case of  $f(x, u) = qu^{q-1}$  to illustrate our result in Section 5.

Throughout this paper, we assume that the measure of  $\Omega$  is equal to 1 without loss of generality. Further, we use a notation  $\gamma^* = n\gamma/(n-\gamma)$  when  $\gamma < n$  and  $\gamma^* = \infty$  otherwise, repectively.

#### 2. Derivation of the model equation for one dimensional case

In this section we derive the model equation (1.1) for one-dimensional elastic string. Let us consider an elastic string with length  $\ell$  in the free state. We assume a constituent law between strain force F and length of extension  $\xi$  as

$$\mathsf{F} = k(\ell)\xi^{\sigma}\,,\tag{2.1}$$

where  $\sigma$  is a positive constant and  $k(\ell)$  is a constant of elasticity. In the case of  $\sigma=1$ , it is known as Hooke's law. Now let us consider two strings with the length  $\ell_1$  and  $\ell_2$  in the free state. Further consider the string constituted by connecting each one edges of these two strings which are stretched with length of extension  $\xi_1$  and  $\xi_2$  respectively. Then the forces yielding to the strings are  $k(\ell_1)\xi_1^{\sigma}$  and  $k(\ell_2)\xi_2^{\sigma}$  respectively. On the other hand, since the connected string has the length of extension  $\xi_1 + \xi_2$ , the force which works on this string is  $k(\ell_1 + \ell_2)(\xi_1 + \xi_2)^{\sigma}$ . Since the strain force F is fixed at each point from the law of action and reaction, the equation

$$F = k(\ell_1)\xi_1^{\sigma} = k(\ell_2)\xi_2^{\sigma} = k(\ell_1 + \ell_2)(\xi_1 + \xi_2)^{\sigma}$$
 (2.2)

holds. Namely,

$$\xi_1 = \left(\frac{\mathsf{F}}{k(\ell_1)}\right)^{1/\sigma}, \quad \xi_2 = \left(\frac{\mathsf{F}}{k(\ell_2)}\right)^{1/\sigma}, \quad \text{and} \quad \xi_1 + \xi_2 = \left(\frac{\mathsf{F}}{k(\ell_1 + \ell_2)}\right)^{1/\sigma}. \quad (2.3)$$

By the equations (2.3), we have the relation

$$\left(\frac{1}{k(\ell_1)}\right)^{1/\sigma} + \left(\frac{1}{k(\ell_2)}\right)^{1/\sigma} = \left(\frac{1}{k(\ell_1 + \ell_2)}\right)^{1/\sigma} \tag{2.4}$$

for each  $\ell_1$ ,  $\ell_2 > 0$ . Now we assume that  $k(\ell)$  is continuous in  $\ell$ . Then this relation shows that the function  $\left(\frac{1}{k(\ell)}\right)^{1/\sigma}$  is linear, i.e.,

$$\left(\frac{1}{k(\ell)}\right)^{1/\sigma} = c\ell$$

with some constant c > 0. Hence we have

$$k(\ell) = \frac{\kappa}{\ell^{\sigma}}$$
 ( $\kappa$ : constant). (2.5)

Thus the relation (2.1) reduces to

$$\mathsf{F} = \kappa \left(\frac{\xi}{\ell}\right)^{\sigma}.\tag{2.6}$$

Hence, when the string with length  $\ell$  in the free state is stretched to  $\ell + \xi$ , the potential energy is given by

$$e = \int_0^{\xi} \mathsf{F} d\xi = \frac{\kappa}{\sigma + 1} \left(\frac{\xi}{\ell}\right)^{\sigma + 1} \ell \ . \tag{2.7}$$

Now consider a deformed string which was occupied in (x, y) = (t, 0),  $0 \le t \le \ell$ , in the free state. Let us denote by (x(t), y(t)) the displacement point of the string which is at (t, 0) in the free state. Then the length of extension at (t, t + dt) is given by

$$d\xi = \sqrt{dx(t)^2 + dy(t)^2} - dt$$

and, from (2.7), the local potential energy caused by this extension is given by

$$dE = \frac{\kappa}{\sigma + 1} \left( \frac{d\xi}{dt} \right)^{\sigma + 1} dt .$$

Thus the potential energy of this string caused by deformation is given by

$$E = \int_0^\ell \frac{\kappa}{\sigma + 1} \left( \frac{d\xi}{dt} \right)^{\sigma + 1} dt$$

$$= \frac{\kappa}{\sigma + 1} \int_0^\ell \left\{ \sqrt{\left( \frac{dx}{dt} \right)^2 + \left( \frac{dy}{dt} \right)^2} - 1 \right\}^{\sigma + 1} dt . \tag{2.8}$$

In case more general nonlinear strain relation  $F = \phi\left(\frac{\xi}{\ell}\right)$  is considered instead of (2.6), the potential energy is given by

$$E = \int_0^{\ell} \Phi\left(\sqrt{\left(\frac{dx}{dt}\right)^2 + \left(\frac{dy}{dt}\right)^2} - 1\right) dt \tag{2.9}$$

where  $\Phi(t)$  is a primitive function of  $\phi(t)$ .

If the curve of the deformed string is given by a non-parametrized form as y = u(x),  $0 \le x \le \ell$ , then letting x = t in (2.8) we have

$$E = E[u] = \frac{\kappa}{\sigma + 1} \int_0^{\ell} \left\{ \sqrt{1 + \left(\frac{du}{dx}\right)^2} - 1 \right\}^{\sigma + 1} dx.$$

Hence denoting

$$\int_0^\ell F(x, u) dx$$

the potential energy caused by an exterior force, we have the total energy of the deformed string as

$$I[u] = \frac{\kappa}{\sigma + 1} \int_0^{\ell} \left\{ \sqrt{1 + \left(\frac{du}{dx}\right)^2} - 1 \right\}^{\sigma + 1} dx - \int_0^{\ell} F(x, u) dx . \tag{2.10}$$

After normalizing a constant and putting  $\gamma = \sigma + 1$ , we easily see that the Euler equation of (2.10) is equal to (1.1).

## 3. A local minimizer of the functional $I_2$

As is stated in Introduction, we consider the functional

$$I_{\lambda}[u] = \int_{\Omega} (\sqrt{1 + |\nabla u|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u) dx$$

defined on the Sobolev space  $W_0^{1,\gamma}(\Omega)$ , where

$$F(x, u) = \int_0^u f(x, \xi) d\xi.$$

In this section we show the existence of a minimizer in the neighborhood of the origin of this functional.

At first we put assumptions on  $f(x, \xi)$  as follows:

- (A1)  $f: \Omega \times \mathbf{R} \to \mathbf{R}$  is continuous,
- (A2)  $f(x,\xi) > 0$  on  $\Omega \times (0,\infty)$ ,  $f(x,\xi) = 0$  on  $\Omega \times (-\infty,0]$ ,
- (A3) there exists a constant q with  $1 \le q < \gamma^*$  and the inequality

$$f(x, \xi) \le d_1 \xi^{q-1} + d_2$$

holds on  $\Omega \times [0, \infty)$  with some positive constants  $d_1, d_2$ .

In the beginning we see that a solution of (1.1) satisfies a weak maximum principle, and owing to the assumption (A2), weak solutions of (1.1) with (1.3) are necessarily nonnegative.

THEOREM 3.1. Let the function  $f(x, \xi)$  satisfy the assumptions (A1), (A2), (A3). If u in  $W_0^{1,\gamma}(\Omega)$  satisfies (1.1) weakly, that is, the equality

$$\gamma \int_{\Omega} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla \phi dx = \lambda \int_{\Omega} f(x,u) \phi dx \tag{3.1}$$

holds for any  $\phi \in C_0^{\infty}$ , then  $u(x) \ge 0$  almost everywhere in  $\Omega$ .

PROOF. From the assumption (A3) and the Sobolev imbedding theorem, it is easy to see that f(x, u) belongs to  $W_0^{1,\gamma}(\Omega)^*$  (the adjoint space of  $W_0^{1,\gamma}(\Omega)$ ). Further the linear functional

$$\phi \to \gamma \int_{\Omega} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla \phi dx$$

is continuously extended to the space  $W_0^{1,\gamma}(\Omega)$ . Thus the equality

$$\gamma \int_{\Omega} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla v dx = \lambda \int_{\Omega} f(x,u) v dx \tag{3.2}$$

holds for any  $v(x) \in W_0^{1,\gamma}(\Omega)$ . Since  $f(x, u) \ge 0$  in  $\Omega$ , the right hand in (3.2) is nonpositive for any  $v(x) \le 0$  in  $\Omega$ . Put  $v(x) = \min\{u(x), 0\}$ . Then v is nonpositive and belongs to  $W_0^{1,\gamma}(\Omega)$ , since  $u \in W_0^{1,\gamma}(\Omega)$ . Thus we have

$$\begin{split} 0 & \geq \int_{\varOmega} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla v dx \\ & = \int_{\varOmega \backslash \varOmega^-} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla v dx + \int_{\varOmega^-} \frac{(\sqrt{1+|\nabla u|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u|^2}} \nabla u \nabla v dx \\ & = \int_{\varOmega^-} \frac{(\sqrt{1+|\nabla v|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla v|^2}} |\nabla v|^2 dx = \int_{\varOmega} \frac{(\sqrt{1+|\nabla v|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla v|^2}} |\nabla v|^2 dx \;, \end{split}$$

where  $\Omega^- \equiv \{x \in \Omega | u(x) < 0\}$ . Hence  $\nabla v = 0$  almost everywhere in  $\Omega$ . Noting  $v \in W_0^{1,\gamma}(\Omega)$  and Poincaré's inequality  $\|v\|_{L^{\gamma}(\Omega)} \le c \|\nabla v\|_{L^{\gamma}(\Omega)}$ , we see v = 0 in  $\Omega$ . This implies that  $u \ge 0$  almost everywhere in  $\Omega$ .

Now we take weak solutions (1.1) as critical points of the functional  $I_{\lambda}$ . Noting that  $W_0^{1,\gamma}(\Omega)$  is compactly imbedded in  $L^q(\Omega)$  ( $1 \le q < \gamma^*$ ), we easily see that the functional  $I_{\lambda}$  is continuously differentiable on  $W_0^{1,\gamma}(\Omega)$  under the assumptions (A1), (A2), (A3). Needless to say, a local minimizer u of  $I_{\lambda}$  is a critical point, and hence it satisfies the Euler equation weakly which is equal to (1.1).

THEOREM 3.2. In addition to the assumptions (A1), (A2), (A3), let us assume  $1 \le q < 2\gamma$  in (A3) and the following.

(A4) There exists a constant r with  $1 < r < 2\gamma$  and the inequality

$$f(x,\xi) \ge d_3 \xi^{r-1} \tag{3.3}$$

holds on  $\Omega \times [0, \xi_0)$  with some constants  $d_3 > 0$  and  $\xi_0 > 0$ .

Then there exists a positive constant  $\lambda^*$  such that, for any  $0 < \lambda < \lambda^*$ ,

there exists a nonnegative, nonzero local minimizer  $u_{\lambda}$ . Further

$$||\nabla u_{\lambda}||_{L^{p}(\Omega)} \to 0$$
 as  $\lambda \to 0$ .

PROOF. By Poincaré's inequality we may adopt the norm

$$\| \nabla u \|_{L^{\gamma}(\Omega)} = \left( \int_{\Omega} |\nabla u|^{\gamma} dx \right)^{1/\gamma}$$

as the one in  $W_0^{1,\gamma}(\Omega)$ . Note the function  $\phi(X) = (\sqrt{1 + X^{2/\gamma}} - 1)^{\gamma}$  is convex, since

$$\phi''(X) = \frac{X^{2/\gamma - 2}}{(1 + X^{2/\gamma})^{3/2}} (\sqrt{1 + X^{2/\gamma}} - 1)^{\gamma - 1} \left\{ \left(1 - \frac{1}{\gamma}\right) \sqrt{1 + X^{2/\gamma}} + \frac{1}{\gamma} \right\} > 0 \; .$$

Further, since we assume meas  $(\Omega) = 1$ , Jensen's inequality

$$\int_{\Omega} \phi(X(x))dx \ge \phi\left(\int_{\Omega} X(x)dx\right) \tag{3.4}$$

holds for any  $X \in L^1(\Omega)$ . Putting  $X = |\nabla u|^{\gamma}$  in (3.4) leads to the inequality

$$\int_{\Omega} (\sqrt{1 + |\nabla u|^2} - 1)^{\gamma} dx \ge \left\{ \sqrt{1 + \left( \int_{\Omega} |\nabla u|^{\gamma} dx \right)^{2/\gamma}} - 1 \right\}^{\gamma}$$
 (3.5)

for any  $u \in W_0^{1,\gamma}(\Omega)$ . From the assumptions (A3) the inequality

$$\int_{\Omega} |F(x,u)| dx \le c_1 \int_{\Omega} (|u| + |u|^q) dx \tag{3.6}$$

holds. And further the right hand in (3.6) is dominated as

$$c_1 \int_{\Omega} (|u| + |u|^q) dx \le c_2 \left\{ \left( \int_{\Omega} |\nabla u|^{\gamma} dx \right)^{1/\gamma} + \left( \int_{\Omega} |\nabla u|^{\gamma} dx \right)^{q/\gamma} \right\}$$

with some positive constant  $c_2$  by the Poincaré-Sobolev inequality. Hence we have

$$I_{\lambda}[u] \ge (\sqrt{1+\rho^2} - 1)^{\gamma} - c_2 \lambda(\rho + \rho^q)$$
(3.7)

on the sphere  $\|Vu\|_{L^{\gamma}(\Omega)} = \rho$ . If we take  $\rho = \rho_{\lambda} \equiv \lambda^{\alpha}$  with a constant  $\alpha$  satisfying  $0 < \alpha < 1/(2\gamma - 1)$ , then

$$I_{\lambda}[u] \ge (\sqrt{1 + \lambda^{2\alpha}} - 1)^{\gamma} - c_2 \lambda (\lambda^{\alpha} + \lambda^{q\alpha})$$
 (3.8)

on  $\|\mathcal{V}u\|_{L^{\gamma}(\Omega)} = \rho_{\lambda}$ . Noting  $2\gamma\alpha < \alpha + 1 \le q\alpha + 1$  from  $1 \le q < 2\gamma$  and comparing the orders of  $\lambda$  of the first and second parts of the right hand in (3.8) as  $\lambda \to 0$ , we can choose a constant  $\lambda^* > 0$  such that the right hand of (3.8)

is positive for any  $0 < \lambda \le \lambda^*$ . Hence  $I_{\lambda}[u] > 0$  on the sphere  $\| \mathcal{V}u \|_{L^{\gamma}(\Omega)} = \rho_{\lambda}$  for any  $0 < \lambda \le \lambda^*$ .

Next let us put

$$\inf_{u \in B(\rho_{\lambda})} I_{\lambda}[u] = I^{\lambda},$$

where  $B(\rho_{\lambda}) = \{u \in W_0^{1,\gamma}(\Omega) | \| \nabla u \|_{L^{\gamma}(\Omega)} \le \rho_{\lambda} \}$ . Since the inequality (3.7) holds,  $I_{\lambda} \ne -\infty$ . Let us take a sequence  $\{u_n\}$  in  $B(\rho_{\lambda})$  such that

$$I_{\lambda}[u_n] \to I^{\lambda}$$
 as  $n \to \infty$ .

Since  $\|\nabla u_n\|_{L^{\gamma}(\Omega)} \leq \rho_{\lambda}$ , the sequence  $\{u_n\}$  is bounded in  $W_0^{1,\gamma}(\Omega)$ . Noting that  $W_0^{1,\gamma}(\Omega)$  is compactly imbedded in  $L^q(\Omega)$  by the assumption  $1 \leq q < \gamma^*$ , we can find out a subsequence  $\{u_{n_k}\}$  and  $u_{\lambda} \in W_0^{1,\gamma}(\Omega)$  such that  $u_{n_k} \to u_{\lambda}$  weakly in  $W_0^{1,\gamma}(\Omega)$  and strongly in  $L^q(\Omega)$  as  $k \to \infty$ . Since the norm of  $W_0^{1,\gamma}(\Omega)$  is weakly lower semicontinuous, the inequality

$$\| V u_{\lambda} \|_{L^{\gamma}(\Omega)} \le \liminf_{k \to \infty} \| V u_{n_k} \|_{L^{\gamma}(\Omega)} \le \rho_{\lambda}$$

holds. Thus  $u_{\lambda}$  belongs to  $B(\rho_{\lambda})$ . As is stated formerly, the functional

$$\int_{\Omega} (\sqrt{1+|\nabla u|^2}-1)^{\gamma} dx$$

is convex and continuous on  $W_0^{1,\gamma}(\Omega)$ . Hence this functional is weakly lower semicontinuous on  $W_0^{1,\gamma}(\Omega)$ . Here we used the fact that a convex and lower semicontinuous functional defined on a Banach space is weakly lower semicontinuous. For the proof see e.g. Dacorogna [9, Theorem 1.2 in Chap. 3]. Thus the inequality

$$\liminf_{k \to \infty} \int_{\Omega} (\sqrt{1 + |\overline{V}u_{n_k}|^2} - 1)^{\gamma} dx \ge \int_{\Omega} (\sqrt{1 + |\overline{V}u_{\lambda}|^2} - 1)^{\gamma} dx$$

holds. Further, since the functional  $\int_{\Omega} F(x, u) dx$  is continuous on  $L^{\gamma}(\Omega)$ , we have

$$\begin{split} & \lim \inf_{k \to \infty} \left\{ \int_{\Omega} (\sqrt{1 + |\nabla u_{n_k}|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u_{n_k}) dx \right\} \\ & = \lim \inf_{k \to \infty} \int_{\Omega} (\sqrt{1 + |\nabla u_{n_k}|^2} - 1)^{\gamma} dx - \lambda \lim_{k \to \infty} \int_{\Omega} F(x, u_{n_k}) dx \\ & \geq \int_{\Omega} (\sqrt{1 + |\nabla u_{\lambda}|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u_{\lambda}) dx = I_{\lambda} [u_{\lambda}] \,. \end{split}$$

Namely,  $I_{\lambda}[u_{\lambda}] = I^{\lambda}$ . Hence this limit function  $u_{\lambda}$  is a minimizer of  $I_{\lambda}$  in

 $B(\rho_{\lambda})$ . Next, in order to show that  $u_{\lambda}$  is an interior point of  $B(\rho_{\lambda})$ , let us choose a nonzero function  $\varphi(x)$  in  $C_0^{\infty}(\Omega) \cap B(\rho_{\lambda})$  satisfying  $0 \le \varphi(x) < \xi_0$  in  $\Omega$ , and put  $u = \varepsilon \varphi$  in  $I_{\lambda}[u]$ . Then from the assumption (A4), we have

$$I_{\lambda}[\varepsilon\varphi] = \int_{\Omega} (\sqrt{1 + \varepsilon^{2} |V\varphi|^{2}} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, \varepsilon\varphi(x)) dx$$
$$\leq \frac{\varepsilon^{2\gamma}}{2^{\gamma}} \int_{\Omega} |V\varphi|^{2\gamma} dx - c_{3} \lambda \varepsilon^{r} \int_{\Omega} \varphi(x)^{r} dx$$

for any  $0 < \varepsilon < 1$  with some constant  $c_3 > 0$ . Since  $1 < r < 2\gamma$  by the assumption,  $I_{\lambda}[\varepsilon \varphi] < 0$  holds for sufficiently small  $\varepsilon > 0$ . This implies  $I^{\lambda} < 0$ , and hence  $u_{\lambda}$  is nonzero. And further, since  $I_{\lambda}[u]$  is positive on the boundary of  $B(\rho_{\lambda})$  (i.e.  $\|\nabla u\|_{L^{\gamma}(\Omega)} = \rho_{\lambda}$ ) when  $0 < \lambda \le \lambda^*$  as is stated formerly, the minimizer  $u_{\lambda}$  is an interior point of the set  $B(\rho_{\lambda})$ . Thus  $u_{\lambda}$  is a local minimizer of  $I_{\lambda}$  in  $W_0^{1,\gamma}(\Omega)$ . Finally,  $\|\nabla u_{\lambda}\|_{L^{\gamma}(\Omega)} \le \rho_{\lambda} = \lambda^{\alpha} \to 0$  as  $\lambda \to 0$ .

THEOREM 3.3. If  $1 \le q < \gamma$  instead of the assumption  $1 \le q < 2\gamma$  in Theorem 3.2, then the results in Theorem 3.2 holds as  $\lambda^* = \infty$  and  $u_{\lambda}$  in Theorem 3.2 is a global minimizer of  $I_{\lambda}$ .

Further we assume the following:

(A5) There exists a constant s > 1 which satisfies the inequality

$$f(x,\xi) \ge d_4 \xi^{s-1} - d_5 \qquad on \ \Omega \times (0,\infty)$$
 (3.9)

with some constants  $d_4$ ,  $d_5 > 0$ .

Then, this minimizer  $u_{\lambda}$  satisfies

$$\|\nabla u_{\lambda}\|_{L^{\gamma}(\Omega)} \to \infty \quad \text{as } \lambda \to \infty .$$
 (3.10)

PROOF. The first half in the theorem is clear. We have only to notice that  $I_{\lambda}[u] \to \infty$  as  $\| \nabla u \|_{L^{\gamma}(\Omega)} \to \infty$ . Hence we only show that  $\| \nabla u_{\lambda} \|_{L^{\gamma}(\Omega)} \to \infty$  as  $\lambda \to \infty$  under the assumption (A5). First let us take  $\varphi \in C_0^{\infty}(\Omega)$ ,  $\varphi(x) \ge 0$  in  $\Omega$  with  $\| \nabla \varphi \|_{L^{\gamma}(\Omega)} = 1$ . In the assumption (A5), we may assume  $s < \gamma$ . Then, using the assumption (A5), and noting the inequality

$$\sqrt{1+|p|^2}-1=\frac{|p|^2}{\sqrt{1+|p|^2}+1} \le |p|$$

for  $p \in \mathbb{R}^n$ , we have

$$\begin{split} &\inf \left\{ I_{\lambda}[u] \, | \, \| Vu \|_{L^{\gamma}(\Omega)} = \rho \right\} \\ &\leq I_{\lambda}[\rho \varphi] \\ &\leq \int_{\Omega} |V(\rho \varphi)|^{\gamma} dx - c_{4} \lambda \int_{\Omega} |\rho \varphi|^{s} dx + c_{5} \lambda \int_{\Omega} |\rho \varphi| dx \\ &= \rho^{\gamma} - c_{6} \lambda \rho^{s} + c_{7} \lambda \rho \,, \end{split}$$

where  $c_4$  and  $c_5$  are positive constants and

$$c_6 = c_4 \int_{\Omega} \varphi^s dx$$
,  $c_7 = c_5 \int_{\Omega} \varphi dx$ .

Hence,

$$I^{\lambda} \equiv \min_{u \in W_0^{1,\gamma}(\Omega)} I_{\lambda}[u] \leq \inf_{\rho > 0} \left( \rho^{\gamma} - c_6 \lambda \rho^s + c_7 \lambda \rho \right).$$

If we take

$$\rho = \left(\frac{c_6 s}{\gamma} \lambda\right)^{1/(\gamma - s)},\,$$

then we have

$$I^{\lambda} \le -\delta \lambda^{\gamma/(\gamma-s)} + c_8 \lambda^{1/(\gamma-s)+1} \,, \tag{3.11}$$

where

$$\delta = \left(\frac{c_6 s}{\gamma}\right)^{\gamma/(\gamma - s)} \left(\frac{\gamma}{s} - 1\right) > 0$$

and

$$c_8 = c_7 \left(\frac{c_6 s}{\gamma}\right)^{1/(\gamma - s)}.$$

On the other hand, from (3.7) the inequality

$$I_{\lambda}[u] \ge (\sqrt{1+\rho^2}-1)^{\gamma} - c_2 \lambda(\rho+\rho^q)$$
 (3.12)

holds on  $\|\nabla u\|_{L^{\gamma}(\Omega)} = \rho$ . The right hand in (3.12) is monotone decreasing on the interval  $(0, (c_2 \lambda/\gamma)^{1/(\gamma-1)})$  for each fixed  $\lambda > 0$ . Let us take a constant  $\alpha$  with  $0 < \alpha < 1/(\gamma - 1)$ , then

$$\lambda^{\alpha} \leq \left(\frac{c_2\lambda}{\gamma}\right)^{1/(\gamma-1)} \qquad \text{if} \qquad \lambda \geq \left(\frac{c_2}{\gamma}\right)^{-1/(1-\alpha(\gamma-1))} \; (\equiv \lambda_0) \; .$$

Thus, if  $\lambda \ge \lambda_0$ , then the right hand in (3.12) is monotone decreasing on  $(0, \lambda^{\alpha})$ . And hence

$$\begin{split} I_{\lambda}[u] &\geq (\sqrt{1+\rho^2}-1)^{\gamma} - c_2 \lambda (\rho + \rho^q) \\ &\geq (\sqrt{1+\lambda^{2\alpha}}-1)^{\gamma} - c_2 \lambda (\lambda^{\alpha} + \lambda^{\alpha q}) \end{split}$$

holds on  $\|\nabla u\|_{L^{\gamma}(\Omega)} = \rho$  with  $0 < \rho < \lambda^{\alpha}$ . This shows that

$$I_{\lambda}[u] \ge (\sqrt{1 + \lambda^{2\alpha}} - 1)^{\gamma} - c_2 \lambda (\lambda^{\alpha} + \lambda^{\alpha q})$$
 (3.13)

holds on the ball  $B(\lambda^{\alpha}) = \{u \in W_0^{1,\gamma}(\Omega) | \| \nabla u \|_{L^{\gamma}(\Omega)} \le \lambda^{\alpha} \}$  when  $\lambda \ge \lambda_0$ . Next take  $\alpha > 0$  over again so small that  $1 + q\alpha < \gamma/(\gamma - s)$ . Then by comparing the orders of  $\lambda$  as  $\lambda \to \infty$  in the right hands in (3.11) and (3.13), we see that the inequality

$$I_{\lambda}[u] \ge (\sqrt{1 + \lambda^{2\alpha}} - 1)^{\gamma} - c_2 \lambda (\lambda^{\alpha} + \lambda^{\alpha q})$$
$$> -\delta \lambda^{\gamma/(\gamma - s)} + c_8 \lambda^{1/(\gamma - s) + 1}$$

holds on  $B(\lambda^{\alpha})$  for  $\lambda \geq \lambda_1$  with some large constant  $\lambda_1$  greater than  $\lambda_0$ . This shows that  $u_{\lambda} \notin B(\lambda^{\alpha})$ , i.e.  $\|\nabla u_{\lambda}\|_{L^{\gamma}(\Omega)} > \lambda^{\alpha}$  for any  $\lambda \geq \lambda_1$ . Hence we have

$$\| \nabla u_{\lambda} \|_{L^{\gamma}(\Omega)} > \lambda^{\alpha} \to \infty$$
 as  $\lambda \to \infty$ .

### 4. Existence and asymptotic behavior of the secondary solution

In order to find out the second critical point of  $I_{\lambda}$ , we put a further assumption on  $f(x, \xi)$ .

(A6) There exist constants m greater than  $\gamma$  and  $\xi_1 > 0$  such that the inequality

$$f(x,\xi)\xi \ge m \int_0^\xi f(x,\eta)d\eta \tag{4.1}$$

holds on  $\Omega \times [\xi_1, \infty)$ .

Then we have

Theorem 4.1. Let the assumptions (A1), (A2), (A3), (A6) be satisfied. Further, if  $\gamma < q < \gamma^*$  in (A3), then there exists a postive constant  $\lambda_*$  such that, for any  $0 < \lambda < \lambda_*$ , there exists a nonnegative, nonzero critical point  $v_{\lambda}$  of  $I_{\lambda}$ . Further, this critical point  $v_{\lambda}$  satisfies

$$\|\nabla v_{\lambda}\|_{L^{\gamma}(\Omega)} \to \infty$$
 as  $\lambda \to 0$ .

REMARK. The asymptotic behavior  $\|\nabla v_{\lambda}\|_{L^{\nu}(\Omega)} \to \infty$  as  $\lambda \to 0$  implies that this solution  $v_{\lambda}$  is different from the one obtained in Section 3. In fact we show the existence of  $v_{\lambda}$  by using the mountain pass lemma without Palais-Smale condition and the monotone operator method. This suggests that  $v_{\lambda}$  is an unstable critical point, while  $u_{\lambda}$  obtained in Section 3 is a local minimizer, i.e. a stable solution.

Prior to giving the proof of Theorem 4.1, recall the Ambrosetti-Rabinowitz mountain pass lemma without Palais-Smale condition.

LEMMA 4.1. Let I be a  $C^1$ -function on a Banach space E. Suppose there exists a neighborhood U of 0 in E and a constant  $\alpha$  which satisfy the following:

- i)  $I[u] \ge \alpha$  on the boundary of U,
- ii)  $I[0] < \alpha$ ,
- iii) there exists a  $w_0 \notin U$  satisfying  $I[w_0] < \alpha$ .

Then, for the constant

$$\mu \equiv \inf_{\gamma \in \Gamma} \max_{\mathbf{w} \in \gamma} I[\mathbf{w}] \qquad (\geq \alpha), \tag{4.2}$$

where  $\Gamma$  denotes the class of paths joining 0 to  $w_0$ , there exists a sequence  $\{u_j\}$  in E such that  $I[u_j] \to \mu$  and  $I'[u_j] \to 0$  in  $E^*$ .

The proof of this lemma was given by Aubin and Ekeland [3], which relies on Ekeland's minimization principle. The brief proof is given in [5] by Brezis.

Now we verify that Lemma 4.1 is applicable in our situation, namely the functional  $I_{\lambda}$  on  $W_0^{1,\gamma}(\Omega)$  satisfies the hypotheses i), ii), iii).

Let us put

$$\lambda_{\rho} = \frac{(\sqrt{1 + \rho^2} - 1)^{\gamma}}{c_2(\rho + \rho^4)} \qquad (>0), \tag{4.3}$$

where  $c_2$  is the constant in the inequality (3.7). Then the inequality (3.7) implies

$$I_{\lambda}[u] \ge (\sqrt{1+\rho^2} - 1)^{\gamma} - c_2 \lambda(\rho + \rho^q)$$
$$= c_2(\lambda_{\rho} - \lambda)(\rho + \rho^q)$$

on  $\| \nabla u \|_{L^{\gamma}(\Omega)} = \rho$ . Thus, by taking  $\alpha = c_2(\lambda_\rho - \lambda)(\rho + \rho^q)$  and  $U = \{ u \in W_0^{1,\gamma}(\Omega) | \| \nabla u \|_{L^{\gamma}(\Omega)} < \rho \}$ , which are denoted by  $\alpha_\rho$  and  $U_\rho$  respectively, the hypothesis i) holds for these  $\alpha_\rho$  and  $U_\rho$ . Since  $I_{\lambda}[0] = 0$ , the hypothesis ii) is valid if  $\alpha_\rho > 0$ , i.e.,  $0 < \lambda < \lambda_\rho$ . Finally we check the hypothesis iii) for these constant  $\alpha_\rho$  and neighborhood  $U_\rho$ . From the inequality (4.1), the inequality

$$F(x,\xi) \equiv \int_0^{\xi} f(x,\eta) d\eta \ge F(x,\xi_1) \left(\frac{\xi}{\xi_1}\right)^m$$

holds for  $\xi \ge \xi_1$ . Since  $f(x, \xi)$  is positive for  $\xi > 0$ , there exist an  $x_0 \in \Omega$  and a neighborhood D of  $x_0$  such that the inequality

$$F(x,\xi) \ge d_9 \xi^m - c_{10} \tag{4.4}$$

holds on  $D \times (0, \infty)$  with some positive constants  $c_9$ ,  $c_{10}$ .

Now let us take a nonnegative function  $\phi$  in  $C_0^{\infty}(\Omega)$  satisfying  $\phi(x) \ge 1$  on D. Then, from (4.4) the inequality

$$F(x, r\phi(x)) \ge c_9 r^m \phi(x)^m - c_{10} \tag{4.5}$$

holds on U for  $r \geq \xi_1$ . Hence

$$I_{\lambda}[r\phi] = \int_{\Omega} (\sqrt{1 + r^{2}|V\phi|^{2}} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, r\phi) dx$$

$$\leq \int_{\Omega} (\sqrt{1 + r^{2}|V\phi|^{2}} - 1)^{\gamma} dx - \lambda \int_{D} F(x, r\phi) dx$$

$$\leq r^{\gamma} \int_{\Omega} |V\phi|^{\gamma} dx - \lambda c_{9} r^{m} \int_{D} \phi^{m} dx + \lambda c_{10}$$

$$\to -\infty \quad \text{as } r \to \infty . \tag{4.6}$$

Therefore  $I_{\lambda}[r\phi] < 0$  for large r, and hence we have check d the hypothesis i), ii), iii) by taking  $\alpha = \alpha_{\rho}$  and  $U = U_{\rho}$  in our problem when  $0 < \lambda < \lambda_{\rho}$ .

Let  $0 < \lambda < \lambda_{\rho}$ . Then Lemma 4.1 asserts that there exists a sequence  $\{u_j\}$  in  $W_0^{1,\gamma}(\Omega)$  such that  $I_{\lambda}[u_j] \to \mu_{\lambda}$ , which is the constant  $\mu$  defined by (4.2) for the functional  $I_{\lambda}$ , the neighborhood  $U = U_{\rho}$  and  $w_0 = R\phi$  for sufficiently large R, and  $I'_{\lambda}[u_j] \to 0$  in  $W_0^{1,\gamma}(\Omega)^*$ . This sequence satisfies the following.

LEMMA 4.2. Let the hypotheses in Theorem 4.1 be satisfied,  $0 < \lambda < \lambda_{\rho}$ , and  $\{u_j\}$  be the sequence in  $W_0^{1,\gamma}(\Omega)$  obtained in Lemma 4.1. Namely it satisfies  $I_{\lambda}[u_j] \to \mu_{\lambda}$  and  $I'_{\lambda}[u_j] \to 0$  in  $W_0^{1,\gamma}(\Omega)^*$ . Then this sequence  $\{u_j\}$  is bounded in  $W_0^{1,\gamma}(\Omega)$ .

**PROOF.** The conditions  $I_{\lambda}[u_j] \to \mu_{\lambda}$  and  $I'_{\lambda}[u_j] \to 0$  mean

$$\int_{\Omega} (\sqrt{1 + |\nabla u_j|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u_j) dx = \mu_{\lambda} + o(1), \qquad (4.7)$$

$$-\gamma \operatorname{div}\left[\frac{(\sqrt{1+|\nabla u_j|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u_j|^2}}\nabla u_j\right] - \lambda f(x,u_j) = \zeta_j \tag{4.8}$$

and  $\|\zeta_j\|_{W_0^{1,\gamma}(\Omega)^*} = o(1)$  as  $j \to \infty$ . Here we put  $I'_{\lambda}[u_j] = \zeta_j$ . Operating the equality (4.8) to  $u_i \in W_0^{1,\gamma}(\Omega)$ , we have

$$\gamma \int_{\Omega} \frac{(\sqrt{1+|\nabla u_j|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla u_j|^2}} |\nabla u_j|^2 dx - \lambda \int_{\Omega} f(x,u_j) u_j dx = \langle \zeta_j, u_j \rangle, \quad (4.9)$$

where  $\langle \zeta_j, u_j \rangle$  denotes the action of  $\zeta_j \in W_0^{1,\gamma}(\Omega)^*$  to  $u_j \in W_0^{1,\gamma}(\Omega)$ . From the equalities (4.7) and (4.9), we have

$$\lambda \int_{\Omega} \{ f(x, u_{j})u_{j} - \gamma F(x, u_{j}) \} dx$$

$$= \gamma \int_{\Omega} \left[ \frac{(\sqrt{1 + |\nabla u_{j}|^{2}} - 1)^{\gamma - 1}}{\sqrt{1 + |\nabla u_{j}|^{2}}} |\nabla u_{j}|^{2} dx - (\sqrt{1 + |\nabla u_{j}|^{2}} - 1)^{\gamma} \right] dx$$

$$- \langle \zeta_{j}, u_{j} \rangle + \gamma \mu_{\lambda} + o(1).$$
(4.10)

Since the integrand in the right hand in (4.10) is nonnegative, the inequality

$$\lambda \int_{\Omega} \left\{ f(x, u_j) u_j - \gamma F(x, u_j) \right\} dx \le -\langle \zeta_j, u_j \rangle + \gamma \mu_{\lambda} + o(1) \tag{4.11}$$

holds. From the assumption (A6), the left hand in (4.10) is estimated as

$$\lambda \int_{\Omega} \left\{ f(x, u_j) u_j - \gamma F(x, u_j) \right\} dx \ge \lambda (m - \gamma) \int_{\Omega} F(x, u_j) dx - c_{11}$$
 (4.12)

with some constant  $c_{11}$ . Combining (4.7), (4.11), (4.12), and noting  $m - \gamma > 0$  by the assumption, we have

$$\int_{\Omega} (\sqrt{1 + |\nabla u_{j}|^{2}} - 1)^{\gamma} dx = \lambda \int_{\Omega} F(x, u_{j}) dx + \mu_{\lambda} + o(1)$$

$$\leq \frac{\lambda}{m - \gamma} \left[ \int_{\Omega} \left\{ f(x, u_{j}) u_{j} - \gamma F(x, u_{j}) \right\} dx + c_{11} \right] + \mu_{\lambda} + o(1)$$

$$\leq \frac{1}{m - \gamma} \left\{ -\langle \zeta_{j}, u_{j} \rangle + \gamma \mu_{\lambda} + c_{11} \right\} + \mu_{\lambda} + o(1)$$

$$\leq \frac{1}{m - \gamma} \left\{ \|\zeta_{j}\|_{W_{0}^{1,\gamma}(\Omega)^{*}} \|\nabla u_{j}\|_{L^{\gamma}(\Omega)} + \gamma \mu_{\lambda} + c_{11} \right\} + \mu_{\lambda} + o(1)$$

$$\leq c_{12} \|\nabla u_{j}\|_{L^{\gamma}(\Omega)} + c_{13}.$$

with some positive constants  $c_{12}$  and  $c_{13}$  which are independent on  $u_j$ . Putting  $\|Fu_j\|_{L^{\gamma}(\Omega)} = \rho_j$  and using Jensen's inequality, we have

$$(\sqrt{1+\rho_j^2}-1)^{\gamma} \le \int_{\Omega} (\sqrt{1+|\nabla u_j|^2}-1)^{\gamma} dx$$
  
 
$$\le c_{12}\rho_j + c_{13}.$$

Since  $\gamma > 1$ ,  $\{\rho_j\}$  is bounded in j, that is, the sequence  $\{u_j\}$  is bounded in  $W_0^{1,\gamma}(\Omega)$ .

Hence we can find out  $v \in W_0^{1,\gamma}(\Omega)$  and a subsequence of  $\{u_j\}$ , still denoted by  $\{u_j\}$ , such that  $u_j \to v$  strongly in  $L^r(\Omega)$  for any  $1 \le r < \gamma^*$ , weakly in  $W_0^{1,\gamma}(\Omega)$ , and almost everywhere.

Put

$$I_{\lambda}[u] = K[u] - \lambda \int_{\Omega} F(x, u) dx,$$

where

$$K[u] = \int_{\Omega} (\sqrt{1 + |\nabla u|^2} - 1)^{\gamma} dx.$$

Then each function  $u_i$  of the sequence satisfies

$$K'[u_i] = I'_{\lambda}[u_i] + \lambda f(x, u_i)$$
(4.13)

in the sense of  $W_0^{1,\gamma}(\Omega)^*$  and  $I'_{\lambda}[u_j] \to 0$  in  $W_0^{1,\gamma}(\Omega)^*$ . Noting the assumption (A3), we have

$$f(x, u_i) \to f(x, v)$$
 in  $L^{q/(q-1)}(\Omega)$ ,

and hence in  $W_0^{1,\gamma}(\Omega)^*$ . By taking the limit  $j \to \infty$  in (4.13), the right hand side converges to  $\lambda f(x, v)$  in  $W_0^{1,\gamma}(\Omega)^*$ .

In general it is hopeless to obtain  $K'[v] = \lambda f(x, v)$  because of the non-linearity of K'[v]. But fortunately we can show this in our case owing to the convexity of K.

LEMMA 4.3. For the limit function v of the sequence  $\{u_j\}$  stated above, the equality  $K'[v] = \lambda f(x, v)$  holds in the sense of  $W_0^{1,\gamma}(\Omega)^*$ .

The proof of this lemma is given by using the monotonicity method of Minty and Browder. See e.g. Lions [13, Chap. 2] and Saaty [19, pp. 58-59].

Let us take  $\lambda_* = \sup_{\rho > 0} \lambda_{\rho}$ . Then, noting

$$K'[v] = -\gamma \operatorname{div} \left[ \frac{(\sqrt{1 + |\nabla v|^2} - 1)^{\gamma - 1}}{\sqrt{1 + |\nabla v|^2}} \nabla v \right],$$

we easily see that the limit function v given above, which we denote by  $v_{\lambda}$  from now on, is the required solution stated in Theorem 4.1.

Now we show the latter part in Theorem 4.1, namely  $\| \mathcal{V}v_{\lambda} \|_{L^{\gamma}(\Omega)} \to \infty$  as  $\lambda \to 0$ . Recall

$$\lambda_{\rho} = \frac{(\sqrt{1+\rho^2}-1)^{\gamma}}{c_2(\rho+\rho^q)}$$

and  $\lambda_{\rho} \to 0$  as  $\rho \to 0$  and  $\infty$ , respectively, from the assumption  $\gamma < q$ . Hence  $\lambda_{\rho}$  attains its maximum  $\lambda_{\star}$  at some point  $\rho = \rho_0 > 0$ . Let us take the sequence  $\{u_j\}$  in Lemma 4.2 which converges to the solution  $v_{\lambda}$ . Then, for any  $\lambda$  with  $0 < \lambda < \lambda_{\star}$ , taking  $\rho = \rho_0$  in the definition of  $\alpha_{\rho}$  and noting that  $F(x, \xi)$  is nonnegative, we have

$$\alpha_{\rho_0} = (\lambda_* - \lambda)c_2(\rho_0 + \rho_0^q)$$

$$\leq \mu_\lambda = \lim_{j \to \infty} I_\lambda[u_j]$$

$$= \lim_{j \to \infty} \left\{ \int_{\Omega} (\sqrt{1 + |\nabla u_j|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, u_j) dx \right\}$$

$$\leq \lim_{j \to \infty} \int_{\Omega} \frac{(\sqrt{1 + |\nabla u_j|^2} - 1)^{\gamma - 1}}{\sqrt{1 + |\nabla u_j|^2}} |\nabla u_j|^2 dx . \tag{4.14}$$

Further, from (4.9) and the fact that  $\|\zeta_j\|_{W_0^{1,\gamma}(\Omega)^*} \to 0$  as  $j \to \infty$ , the right hand in (4.14) is equal to

$$\frac{\lambda}{\gamma} \lim_{j \to \infty} \int_{\Omega} f(x, u_j) u_j dx = \frac{\lambda}{\gamma} \int_{\Omega} f(x, v_{\lambda}) v_{\lambda} dx. \tag{4.15}$$

Hence we have, from the assumption (A3),

$$(\lambda_* - \lambda)c_2(\rho_0 + \rho_0^q) \le \frac{\lambda}{\gamma} \int_{\Omega} f(x, v_\lambda)v_\lambda dx$$
$$\le \frac{\lambda}{\gamma} \left\{ c_{14} \int_{\Omega} |v_\lambda|^q dx + c_{15} \right\}$$

with some positive constants  $c_{14}$  and  $c_{15}$ . This implies that

$$\int_{\varOmega} |v_{\lambda}|^q dx \geq \frac{\gamma(\lambda_* - \lambda)c_2(\rho_0 + \rho_0^q)}{\lambda c_{14}} - \frac{c_{15}}{c_{14}} \rightarrow \infty$$

as  $\lambda \to 0$ . Noting the Poincaré-Sobolev inequality, we complete the proof of Theorem 4.1.

In Theorem 3.3 we have shown the existence of global minimizer for any  $\lambda > 0$  and given the asymptotic behavior of this minimizer as  $\lambda \to \infty$  under the appropriate assumption on  $f(x, \xi)$ . Corresponding to this, we can give the existence and asymptotic behavior of unstable solution for large  $\lambda$  if  $f(x, \xi)$  satisfies a certain behavior on  $\xi$ .

THEOREM 4.2. Let the assumptions (A1), (A2) and (A6) be satisfied. Further let us assume

(A3') there exist constants p and q with  $2\gamma and the inequality$ 

$$f(x, \xi) \le d_6(\xi^{p-1} + \xi^{q-1})$$

holds on  $\Omega \times [0, \infty)$  with some constant  $d_6 > 0$ .

Then there exists a nonzero and nonnegative critical point  $v_{\lambda}$  for any  $\lambda > 0$ . Besides these assumptions, if (A6) is valid for  $m \ge 2\gamma$  with  $\xi_1 = 0$ , then  $v_{\lambda}$  satisfies

$$\|\nabla v_{\lambda}\|_{L^{\gamma}(\Omega)} \to 0$$
 as  $\lambda \to \infty$ .

PROOF. From the assumption (A3'), the inequality

$$I_{\lambda}[u] \ge (\sqrt{1+\rho^2}-1)^{\gamma} - c_{16}\lambda(\rho^p+\rho^q)$$

holds on  $\|\nabla u\|_{L^{\gamma}(\Omega)} = \rho$  with some constant  $c_{16} > 0$ . Hence if we put

$$\lambda_{\rho} = \frac{(\sqrt{1 + \rho^2} - 1)^{\gamma}}{c_{16}(\rho^p + \rho^q)}$$

instead of (4.3), then we can find out a critical point  $v_{\lambda}$  of  $I_{\lambda}$  for any  $\lambda$  with  $0 < \lambda < \sup_{\rho > 0} \lambda_{\rho}$ . The proof is just the same. Noting  $\sup_{\rho > 0} \lambda_{\rho} = \infty$ , we see that there exists a critical point for any  $\lambda > 0$ . Next let us take the function  $\phi$  stated in checking the hypothesis iii) in Lemma 4.1, namely a nonegative function  $\phi \in C_0^{\infty}(\Omega)$  with  $\phi(x) \ge 1$  on D where  $F(x, \xi)$  satisfies the inequality (4.4) for any  $\xi \ge 0$ . Then we have

$$I_{\lambda}[r\phi] = \int_{\Omega} (\sqrt{1 + r^2 |\nabla \phi|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, r\phi) dx$$

$$\leq \left( \int_{\Omega} |\nabla \phi|^{\gamma} dx \right) r^{\gamma} - \lambda \int_{\Omega} F(x, r\phi) dx$$

$$\equiv Ar^{\gamma} - \lambda H(r) , \qquad (4.16)$$

where  $A = \int_{\Omega} |\nabla \phi|^{\gamma} dx$  and  $H(r) = \int_{\Omega} F(x, r\phi) dx$ . It is easy to see that H(r) is continuous in  $r \ge 0$ , positive on r > 0 and H(0) = 0. Further, as was seen in (4.5),

$$H(r) \ge Br^m - c_{10}$$
 for  $r \ge \xi_1$ ,

where  $B = c_9 \int_D \phi(x)^m dx > 0$ . Since  $m > \gamma$ , there exists R (>0) which is independent on  $\lambda$  such that

$$Ar^{\gamma} - \lambda H(r) \leq 0$$

for  $\lambda \geq 1$  and  $r \geq R$ .

Take the function  $R\phi$  as the  $w_0$  stated in Lemma 4.1 as before, and consider the straight line from the origin to  $R\phi$  among all paths which connect these two points. Then from Lemma 4.1, (4.16) and the positivity of H(r) for r > 0,

$$\begin{split} 0 & \leq \mu_{\lambda} \leq \max_{0 \leq r \leq R} \, I_{\lambda}[r\phi] \\ & \leq \max_{0 \leq r \leq R} \, \left[ Ar^{\gamma} - \lambda H(r) \right] \to 0 \qquad \text{as } \lambda \to \infty \;, \end{split}$$

where  $\mu_{\lambda}$  denotes the  $\mu$  stated in Lemma 4.1.

Next let  $\{u_i\}$  be the sequence stated in Lemma 4.2. Namely,

$$I_{\lambda}[u_i] \to \mu_{\lambda}$$
,

 $u_i \to v_{\lambda}$  weakly in  $W_0^{1,\gamma}(\Omega)$  and strongly in  $L^q(\Omega)$ .

Since  $I_{\lambda}$  is weakly lower semicontinuous in  $W_0^{1,\gamma}(\Omega)$ , the inequality

$$\mu_{\lambda} \ge I_{\lambda} \equiv \int_{\Omega} (\sqrt{1 + |\nabla u_{\lambda}|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} F(x, v_{\lambda}) dx \tag{4.17}$$

holds. From the assumption (A6) with  $\xi_1 = 0$ , we have

$$\int_{\Omega} F(x, v_{\lambda}) dx \le \frac{1}{m} \int_{\Omega} f(x, v_{\lambda}) v_{\lambda} dx.$$
 (4.18)

Further, since  $v_{\lambda} \in W_0^{1,\gamma}(\Omega)$  is a weak solution of (1.1), the equality

$$\gamma \int_{\Omega} \frac{(\sqrt{1+|\nabla v_{\lambda}|^2}-1)^{\gamma-1}}{\sqrt{1+|\nabla v_{\lambda}|^2}} |\nabla u_{\lambda}|^2 dx = \lambda \int_{\Omega} f(x,v_{\lambda}) v_{\lambda} dx \tag{4.19}$$

holds. From (4.17), (4.18) and (4.19),

$$\mu_{\lambda} \ge \int_{\Omega} (\sqrt{1 + |\nabla v_{\lambda}|^{2}} - 1)^{\gamma} dx - \frac{\lambda}{m} \int_{\Omega} f(x, v_{\lambda}) v_{\lambda} dx$$

$$= \int_{\Omega} \left[ (\sqrt{1 + |\nabla v_{\lambda}|^{2}} - 1)^{\gamma} - \frac{\gamma}{m} \frac{(\sqrt{1 + |\nabla v_{\lambda}|^{2}} - 1)^{\gamma - 1}}{\sqrt{1 + |\nabla v_{\lambda}|^{2}}} |\nabla v_{\lambda}|^{2} \right] dx . \quad (4.20)$$

Now we put

$$\varphi(X) = (\sqrt{1 + X^{2/\gamma}} - 1)^{\gamma} - \frac{\gamma}{m} \frac{(\sqrt{1 + X^{2/\gamma}} - 1)^{\gamma - 1}}{\sqrt{1 + X^{2/\gamma}}} X^{2/\gamma}.$$

Noting  $m \ge 2\gamma$ , we easily see that

$$\varphi(X) \sim \begin{cases} \frac{1}{2\gamma} \left( 1 - \frac{2\gamma}{m} \right) X^2 & (m > 2\gamma) \\ \frac{1}{2^{\gamma+2}} X^{2+2/\gamma} & (m = 2\gamma) \end{cases}$$

as  $X \to 0$  and

$$\varphi(X) \sim \left(1 - \frac{\gamma}{m}\right) X$$
 as  $X \to \infty$ .

Further  $\varphi(X) > 0$  for X > 0. Thus there exists a monotone increasing convex function g(X) on  $[0, \infty)$  such that  $\varphi(X) \ge g(X) > 0$  for X > 0 with g(0) = 0. For example, we may put

$$g(X) = \begin{cases} \varepsilon X^{2+2/\gamma} & (0 \le X < 1) \\ \varepsilon \left(2 + \frac{2}{\gamma}\right) X - \varepsilon \left(1 + \frac{2}{\gamma}\right) & (X \ge 1) \end{cases}$$

with small  $\varepsilon > 0$ . From (4.20) and by using Jensen's inequality, we have

$$\mu_{\lambda} \ge \int_{\Omega} \varphi(|\nabla v_{\lambda}|^{\gamma}) dx \ge \int_{\Omega} g(|\nabla v_{\lambda}|^{\gamma}) dx$$

$$\ge g\left(\int_{\Omega} |\nabla v_{\lambda}|^{\gamma} dx\right) \ge 0. \tag{4.21}$$

Letting  $\lambda \to \infty$  in (4.21) and noting that  $\mu_{\lambda} \to 0$  as  $\lambda \to \infty$ , we see that

$$g\left(\int_{\Omega} |\nabla v_{\lambda}|^{\gamma} dx\right) \to 0$$
 as  $\lambda \to \infty$ .

Since g is monotone increasing and g(0) = 0, we have

$$\int_{\Omega} |\nabla v_{\lambda}|^{\gamma} dx \to 0 \quad \text{as } \lambda \to \infty .$$

## 5. For the case when $f(x, u) = qu^{q-1}$

To illustrate our result presented in the preceding section, we consider the boundary value problem

$$-\gamma \operatorname{div} \left[ \frac{(\sqrt{1 + |\nabla u|^2} - 1)^{\gamma - 1}}{\sqrt{1 + |\nabla u|^2}} \nabla u \right] = \lambda q u^{q - 1} \quad \text{in } \Omega$$
 (5.1)

$$u \ge 0$$
 in  $\Omega$  (5.2)

$$u = 0$$
 on  $\partial \Omega$ , (5.3)

where  $1 < q < \gamma^*$ . In this case  $f(x, u) = qu_+^{q-1}$  and  $F(x, u) = u_+^q$ , for which solutions of (5.1), (5.2), (5.3) correspond to critical points of the functional

$$I_{\lambda}[u] = \int_{\Omega} (\sqrt{1 + |\nabla u|^2} - 1)^{\gamma} dx - \lambda \int_{\Omega} u_+^q dx$$
 (5.4)

defined on the Sobolev space  $W_0^{1,\gamma}(\Omega)$ , where  $u_+ = \max\{u, 0\}$ . Then assumptions (A1), (A2), (A3), (A5) are satisfied. Further assumptions (A4), (A6) and (A3') hold for  $1 < q < 2\gamma$ ,  $\gamma < q$  and  $2\gamma < q < \gamma^*$  respectively.

Thus, it follows that

(i) When  $1 < q < \gamma$ , there exist nontrivial weak solutions  $\{u_{\lambda}\}, \ \lambda > 0$ , such that

$$\|\nabla u_i\|_{L^{r(\Omega)}} \to 0 \qquad \text{as } \lambda \to 0 \,, \tag{5.5}$$

and

$$\|\nabla u_{\lambda}\|_{L^{p}(\Omega)} \to \infty \quad as \quad \lambda \to \infty .$$
 (5.6)

(ii) When  $\gamma < q < 2\gamma$ , there exist nontrivial weak solutions  $\{u_{\lambda}\}$ ,  $0 < \lambda < \lambda^*$ , and  $\{v_{\lambda}\}$ ,  $0 < \lambda < \lambda_*$ , such that

$$\|\nabla u_{\lambda}\|_{L^{\gamma}(\Omega)} \to 0 \quad as \quad \lambda \to 0 ,$$
 (5.7)

and

$$\|\nabla v_{\lambda}\|_{L^{p}(\Omega)} \to \infty \quad as \quad \lambda \to 0 ,$$
 (5.8)

respectively.

(iii) When  $2\gamma < q < \gamma^*$ , there exist nontrivial weak solutions  $\{v_{\lambda}\}, \ \lambda > 0$ , such that

$$\|\nabla v_{\lambda}\|_{L^{\gamma}(\Omega)} \to \infty \quad as \quad \lambda \to 0 ,$$
 (5.9)

and

$$||\nabla v_{\lambda}||_{L^{\gamma}(\Omega)} \to 0 \quad as \quad \lambda \to \infty .$$
 (5.10)

On the other hand, to mention the non-existence of nontrivial solutions in problem (5.1)–(5.3) for  $q > 2n\gamma/(n-2\gamma)$  and  $n > 2\gamma$ , we recall here a general variational identity obtained by Pucci and Serrin [17] corresponding to critical points of the functional

$$I[u] = \int_{\Omega} \mathscr{F}(x, u, \nabla u) dx \tag{5.11}$$

where  $x = (x_1, \dots, x_n)$ ,  $u = u(x_1, \dots, x_n)$  and  $\nabla u = \left(\frac{\partial u}{\partial x_1}, \dots, \frac{\partial u}{\partial x_n}\right)$ . We consider integrands  $\mathscr{F} = \mathscr{F}(x, u, p)$ ,  $p = (p_1, \dots, p_n)$ , which are of class  $C^1$  on the domain  $\overline{\Omega} \times \mathbf{R} \times \mathbf{R}^n$ , and the vector function

$$\mathscr{F}_{p}(x, u, p) = \left(\frac{\partial \mathscr{F}}{\partial p_{1}}, \cdots, \frac{\partial \mathscr{F}}{\partial p_{n}}\right)(x, u, p)$$
 (5.12)

is of class  $C^1$  on  $\overline{\Omega} \times \mathbb{R} \times \mathbb{R}^n$ . Critical points of (5.11), which are of class  $C^2(\Omega)$ , satisfy the Euler equation

$$\operatorname{div}\left\{\mathscr{F}_{n}(x, u, \nabla u)\right\} = \mathscr{F}_{u}(x, u, \nabla u), \qquad x \in \Omega, \tag{5.13}$$

where  $\mathscr{F}_{u} = \frac{\partial \mathscr{F}}{\partial u}$ .

LEMMA 5.1. Let u=u(x) be of class  $C^2(\Omega)$  and  $p_i=\frac{\partial u}{\partial x_i},\ i=1,\ \cdots,\ n.$  Then, the following identity holds in  $\Omega$ :

$$-\operatorname{div}\left[\left\{(x \cdot p) + au\right\} \mathscr{F}_{p}(x, u, p) - x\mathscr{F}(x, u, p)\right]$$

$$= n\mathscr{F}(x, u, p) + x \cdot \mathscr{F}_{x}(x, u, p) - (1 + a)p \cdot \mathscr{F}_{p}(x, u, p)$$

$$- au \operatorname{div}\left\{\mathscr{F}_{p}(x, u, p)\right\} - (x \cdot p)(\operatorname{div}\left\{\mathscr{F}_{p}(x, u, p)\right\} - \mathscr{F}_{u}(x, u, p)), \quad (5.14)$$

where a is an arbitrary constant and  $\mathscr{F}_x = \left(\frac{\partial \mathscr{F}}{\partial x_1}, \cdots, \frac{\partial \mathscr{F}}{\partial x_n}\right)$ .

PROOF. It is easy to see that

$$\operatorname{div}\left\{(x \cdot p)\mathscr{F}_{p}(x, u, p)\right\} = \sum_{i} \frac{\partial}{\partial x_{i}} \left\{ \sum_{j} x_{j} p_{j} \frac{\partial \mathscr{F}}{\partial p_{i}}(x, u, p) \right\}$$

$$= p \cdot \mathscr{F}_{p}(x, u, p) + \sum_{i,j} x_{j} \frac{\partial^{2} u}{\partial x_{i} \partial x_{j}} \frac{\partial \mathscr{F}}{\partial p_{i}}(x, u, p) + (x \cdot p) \operatorname{div}\left\{\mathscr{F}_{p}(x, u, p)\right\}, \quad (5.15)$$

$$\operatorname{div}\left\{ u\mathscr{F}_{p}(x, u, p)\right\} = \sum_{i} \frac{\partial}{\partial x_{i}} \left\{ u \frac{\partial \mathscr{F}}{\partial p_{i}}(x, u, p)\right\}$$

$$= p \cdot \mathscr{F}_{p}(x, u, p) + u \operatorname{div}\left\{\mathscr{F}_{p}(x, u, p)\right\}, \quad (5.16)$$

$$\operatorname{div}\left\{ x\mathscr{F}(x, u, p)\right\} = \sum_{j} \frac{\partial}{\partial x_{j}} \left\{ x_{j}\mathscr{F}(x, u, p)\right\}$$

$$= n\mathscr{F}(x, u, p) + x \cdot \mathscr{F}_{x}(x, u, p) + (x \cdot p)\mathscr{F}_{u}(x, u, p)$$

$$+ \sum_{i,j} x_{j} \frac{\partial^{2} u}{\partial x_{i} \partial x_{j}} \frac{\partial \mathscr{F}}{\partial p_{i}}(x, u, p), \quad (5.17)$$

and, subtracting (5.15) and a times (5.16) from (5.17) implies (5.14).

LEMMA 5.2. Let  $u \in C^2(\Omega)$  be a solution of (5.13) with u = 0 on  $\partial \Omega$  and a be an arbitrary constant. Let

$$P(x, p) = p \cdot \mathscr{F}_{p}(x, 0, p) - \mathscr{F}(x, 0, p)$$

$$Q(x, u, p) = n\mathscr{F}(x, u, p) + x \cdot \mathscr{F}_{x}(x, u, p)$$

$$- (1 + a)p \cdot \mathscr{F}_{p}(x, u, p) - au\mathscr{F}_{u}(x, u, p)$$

$$(5.18)$$

then the identity

$$-\int_{\partial\Omega} P(x, \nabla u)(x \cdot v) ds = \int_{\Omega} Q(x, u, \nabla u) dx$$
 (5.20)

holds, where v is the outer normal vector on  $\partial \Omega$ .

PROOF. Since u satisfies (5.13) on  $\Omega$  and  $\nabla u = \frac{\partial u}{\partial v}v$  on  $\partial \Omega$ ,

$$(x \cdot \nabla u)(\mathscr{F}_n(x, u, \nabla u) \cdot v) = (x \cdot v)(\mathscr{F}_n(x, u, \nabla u) \cdot \nabla u) \quad \text{on } \partial\Omega. \quad (5.21)$$

The identities (5.13), (5.14), (5.21) and the divergence theorem imply

$$-\int_{\partial\Omega} (x \cdot v) \{ (\mathscr{F}_p(x, u, \nabla u) \cdot \nabla u) - \mathscr{F}(x, u, \nabla u) \} ds$$

$$= \int_{\Omega} \{ n\mathscr{F}(x, u, \nabla u) + x \cdot \mathscr{F}_x(x, u, \nabla u) - (1 + a) \nabla u \cdot \mathscr{F}_p(x, u, \nabla u) - au\mathscr{F}_u(x, u, \nabla u) \} dx . \tag{5.22}$$

This shows (5.20).

Lemma 5.3 (Pucci and Serrin [17, Theorem 1]). Assume  $\Omega$  is bounded and star-shaped with respect to the origin. Suppose also that

$$P(x, p) \ge 0$$
 for all  $(x, p) \in \partial \Omega \times \mathbb{R}^n$ , (5.23)

and that there exists a real number a such that

$$Q(x, u, p) \ge 0$$
 for all  $(x, u, p) \in \Omega \times \mathbb{R} \times \mathbb{R}^n$ , (5.24)

where P and Q are defined by (5.18) and (5.19), respectively. Assume finally that either u=0 or p=0 whenever the equality in (5.24) holds. Then the variational equation (5.13) has no nontrivial solution  $u \in C^2(\Omega) \cap C^1(\overline{\Omega})$  which vanishes on  $\partial\Omega$ .

PROOF. Since  $x \cdot v \ge 0$  on  $\partial \Omega$ , (5.20), (5.23), (5.24) imply Q(x, u, p) = 0 and hence u = 0 or p = 0 in  $\Omega$ . It follows that  $u \equiv 0$  in  $\Omega$ .

Now we apply Lemma 5.3 to the problem (5.1)–(5.3). In this case,

$$\mathscr{F}(x, u, p) = (\sqrt{1+|p|^2}-1)^{\gamma} - \lambda u^q,$$

for which the relation

$$\frac{1}{2} \frac{|p|^2}{\sqrt{1+|p|^2}} \le \sqrt{1+|p|^2} - 1 \le \frac{|p|^2}{\sqrt{1+|p|^2}}$$

implies that

$$P(x, p) = p \cdot \mathscr{F}_{p}(x, 0, p) - \mathscr{F}(x, 0, p)$$

$$= \gamma (\sqrt{1 + |p|^{2}} - 1)^{\gamma - 1} \frac{|p|^{2}}{\sqrt{1 + |p|^{2}}} - (\sqrt{1 + |p|^{2}} - 1)^{\gamma}$$

$$\geq (\gamma - 1)(\sqrt{1 + |p|^{2}} - 1)^{\gamma - 1} \geq 0,$$
(5.25)

and

$$Q(x, u, p) = n\mathcal{F}(x, u, p) + x \cdot \mathcal{F}_{x}(x, u, p)$$

$$- (1 + a)p \cdot \mathcal{F}_{p}(x, u, p) - au\mathcal{F}_{u}(x, u, p)$$

$$= n\{(\sqrt{1 + |p|^{2}} - 1)^{\gamma} - \lambda u^{q}\}$$

$$- (1 + a)\gamma(\sqrt{1 + |p|^{2}} - 1)^{\gamma-1} \frac{|p|^{2}}{\sqrt{1 + |p|^{2}}} + \lambda aqu^{q}$$

$$\geq (n - 2(1 + a)\gamma)(\sqrt{1 + |p|^{2}} - 1)^{\gamma} + \lambda (aq - n)u^{q}.$$
 (5.26)

Taking  $a = n/(2\gamma) - 1$  the assumption of Lemma 5.3 is satisfied for a > 0 and q > n/a. Hence, there exist no nontrivial solutions for  $n > 2\gamma$  and  $q > 2n\gamma/(n-2\gamma)$ .

We have no result about our problem concerning the existence of solutions in the case  $\gamma^* \le q \le 2n\gamma/(n-2\gamma)$ .

#### References

- [1] A. Ambrosetti and P. H. Rabinowitz, Dual variational methods in critical point theory and applications, J. Funct. Anal., 14 (1973), 349-381.
- [2] F. V. Atkinson, L. A. Peletier and J. Serrin, Ground states for the prescribed mean curvature equation: the super critical case. Nonlinear Diffusion Equations and Their Equilibrium States, Springer, 1988.
- [3] J.-P. Aubin and I. Ekeland, Applied Nonlinear Analysis, Wiley, 1984.
- [4] T. Aubin, Équations différentielles non linéaires et problème de Yamabe concernant la courbure scalaire, J. Math. Pures Appl., 55 (1976), 269-296.
- [5] H. Brezis, Some variational problems with lack of compactness, Proc. Symp. in Pure Math., 45 (1986), Part 1, 165-201.
- [6] H. Brezis and L. Nirenberg, Positive solutions of nonlinear elliptic equations involving critical Sobolev exponents, Comm. Pure Appl. Math., 36 (1983), 437-477.
- [7] C. V. Coffman and W. K. Ziemer, A prescribed mean curvature problem on domains without radial symmetry, preprint.
- [8] P. Concus and R. Finn, The shape of a pendent liquid drop, Philos. Trans. Roy. Soc. London Ser. A, 292 (1979), 307-340.
- [9] B. Dacorogna, Direct Methods in the Calculus of Variations, Springer, 1989.
- [10] R. Finn, Equilibrium Capillary Surfaces, Springer, 1986.
- [11] M. Guedda and L. Veron, Quasilinear elliptic equations involving critical Sobolev exponents, Nonlinear Analysis, T. M. A., 13 (1989), 879-902.
- [12] N. Ishimura, Nonlinear eigenvalue problem associated with the generalized capillary equation, J. Fac. Sci. Univ. Tokyo Sec. IA, 37 (1990), 457-466.
- [13] J. L. Lions, Quelques méthodes de résolution de problèmes aux limites non linéaires, Dunod, 1969.
- [14] K. Narukawa and T. Suzuki, Nonlinear eigenvalue problem associated to capillary surfaces, Boll. Un. Mat. Ital., 4-B (1990), 223-241.
- [15] W.-M. Ni and J. Serrin, Non-existence theorems for quasilinear partial differential equations, Suppl. Rend. Circ. Mat. Palermo Serie II, 8 (1985), 171-185.

- [16] L. A. Peletier and J. Serrin, Ground states for the prescribed mean curvature equation, Proc. Amer. Math. Soc., 100 (1987), 694-700.
- [17] P. Pucci and J. Serrin, A general variational identity, Indiana Univ. Math. J., 35 (1986), 681-703.
- [18] P. H. Rabinowitz, Minimax Methods in Critical Point Theory with Applications to Differential Equations, CBMS Regional Conference, 65, Amer. Math. Soc., 1986.
- [19] T. L. Saaty, Modern Nonlinear Equations, McGraw-Hill, 1967, reprinted by Dover, 1981.
- [20] H. C. Wente, The symmetry of sessile and pendent drops, Pacific J. Math., 88 (1980), 387-397.

Department of Mathematics
Faculty of Engineering
Tokushima University
Tokushima 770, Japan
and
Department of Mathematics
Naruto University of Education
Takashima, Naruto 772, Japan